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Note :

PSYCHOLOGY
PAPER -1I

This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

In Erikson’s theory, which psycho-social crises preceed and succeed Autonomy v/s
Shame :

(1) Basic trust v/s mistrust and Industry v/s Inferiority. f

(2) Initiative v/s Guilt and Industry v/s Inferiority. p
(3) Industry v/s Inferiority and Identity v/s Role confusion. {
(4) Basic trust v/s mistrust and Initiative v/s Guilt. { F

Read each of the following statements - Assertion (A) and Reason (R); and indicate your
answer using code given below : .

r
Assertion (A) : Horner found high level of motive to.avoid success or fear of success in

females. »
Reason (R) : As a result of success, the Fhreat of social rejection and fear concerning
perceived lack of feminity are aroused in women.
Code : f i
(1) Both (A) and (R) are true, and (R) is the corre¢t gxplanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)  (A)is true, but (R) is false. 4 " A
(4) (A) is false, but (R) is true. ¢ -
<
3. Match List - I with List - IT add select the correct answer by choosing from code given
below :
List - 1 B List - II
(Concept) 4 ’ (Explanation)
(a) Life Space ' | (i)  Unlearned, fixed stereotyped pattern of activity.
(b) Instinctual Behaviour (i) Psychological reality depicting the totality of facts
" 4 that determine behaviour at a moment in true. It
P, counts of environment as perceived by the person.
{ (c) Vacuum Bef‘nav'zirour (i) Tendency to resume the previously unfinished task
during intervening period.
(d) Task Resunl1ption (iv) Behaviour patterns that appear when the sign
. ' stimulus is not identifiable.
Code : |
L@ b © @
OGO @ @@
@ G 6 @) ()
@) @ @) O @
@) (v G @ @
pooss |11 RHRANAI : Faper
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Read each of the following statements - Assertion (A) and Reason (R); and indicate your
answer using code given below :

Assertion (A) : Perceived fairness of the interpersonal treatment is used to determine
organizational outcomes.

Reason (R) : People expect informational transparency and respect in organizations.
Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). | :

(3) (A) is true, but (R) is false. r
(4) (A) is false, but (R) is true. f r

Match List - I with List - II and select the correct answer by choosing from code given
below :

List - I Cmist-ml
(Concept) /-" (Explanation)
(a) Episodic retrieval (1) aPhysmal environment at retrieval matching

'that at encoding.
(b) Context-dependent retrieval (ii) r Mood}a gsetrleval matching that at encoding.
s

(c) State-dependent retrieval (iii) Retrie timulated by hints from the external
and 1nterna1 emvironment.
(d) Cue-dependent retrieval %L (i) Subseqﬁent reactivation of stored memory
™ { traces. !
Code : ) b
@ () () (d) =

® @O @ @) @)

(2) @ (@) (iii)‘i. @ -

() @) (@) @) "G |

@ Gv) @ |G ()

|

Read each of the following statements - Assertion (A) and Reason (R); and indicate your
answer using code given below :

Assertion (A) : Rational persuation refers to the use of logical arguments and facts to
persuade others for achieving a desired result.

Reason (R) : | Managers use several techniques to influence others in organizations.

Code :

(1) J Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2)w» B'_oth (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.
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7.  Match List - I with List - II and select the correct answer by choosing from code given

below :
List - I List - II
(Concept) (Description)
(a) Counter-conditioning (i)  After conditioning, a new CS(B) when paired with

already conditioned stimulus CS5(A) and presented
as a compound stimulus, little or no conditioning
occurs to CS(B).

(b)  Blocking (i) Elimination of undesirable behaviour by":; pairing CS
with US other than the one that originally rer{fqrced
that behaviour.

(c) Overshadowing (i) Inhibition of conditioned regponse caused by
conditioned emotional response.

(d) Conditioned Suppression (iv) While using compound CS where one of its
components is more salient than the other, only the
salient component is conditioned.

Code : <
@ (b (© () £ 1 |
1 G @ @ G) I /
@ @ O G G \ /
G) Gv) @) @ @)
@ Gv) (@) @@ @ U f
8.  Match List - I with List - II and ts&lect the correct answer by choosing from code given
below : k "
List - I List - II
(Concept) (Explanation)
(a) Convergence o . (i) If you see a distant mountain range on a crystal -
\ ( clear day, it looks like it was only a few miles away.
(b) Frame of reference (i) When the two images are fused into one overall
g image.
(c) Steteoscopie vision (i) When we look at a distant object, the lines of vision
/ i from our eyes are parallel. Looking at a nearby
' object, the eyes turn in.
(d) Aerial perspective (iv) An internal perspective relative to which events are
. - perceived.
Code : |
. @ (b)) f() (d)
My @ @ @) @)
(2) =@ @v) @ @
G) @) (@) @) @
@4 (v) @ () ()
poosss [T : Faper
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9.
answer using code given below :
Assertion (A) :
Reason (R) :
proximal stimulus.
Code :
(2)
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
10.
below :
List - I
(Concept)
(a) Physiological Psychology (i)
(b) Neuropsychology (ii)
(c) Psychophysiology (iii)
“{
(d) Cognitive Neuroscience X (&\;)
Vi
Code :
@ (b)) () g(d)-
® @ . @)
(2) @) @Gv) (@O ()
(3) @@ @ 4 @Qv) (i)
@ ) i) i G
11.
relationship ?
. level of Intelligence.
" level of Intelligence.
level of Intelligence.
poosss [T

Read each of the following statements - Assertion (A) and Reason (R); and indicate your

Perception remains constant although the proximal sensation changes.
Our perceptual system has mechanisms that adjust our perception of the

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A). %

5-
&
(
I r

Match List - I with List - IT and select the correct answer by choosing from code given

v

List-I1I

(Description) \ (
Studieg’the psychological effects of brain damage in
humah patients. |

Stud;es the neural mechanisms of behaviour by
maﬁipulatijg the nervous systems of non-human
animals in olled experiments.

Studies the re'la_’_ciQH between physiological activity
and psychological processes in human subjects by
non-invasive fphysiological recording.

Studies the neural mechanisms of human cognition,
mainly by wusing functional brain imaging
techniques.

iii) ju) i)
Which of the following explains the Threshold Hypothesis regarding Intelligence - Creativity

(1) " There is a I‘positive correlation between Intelligence and Creativity.

(2) There is alpositive correlation between Intelligence and Creativity upto a particular

(3) ¥ There is a positive correlation between Intelligence and Creativity beyond a particular

(4) There is a negative correlation between Intelligence and Creativity beyond a particular

8 Paper-II
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12. Match List - I with List - II and select the correct answer by choosing from code given
below :
List - I List - II
(Concept) (Explanation)

(a) Concordance (i) Percentage of cases in which, if specific gene is present, a
particular trait, characteristic or disease will actually manifest
itself in the fully developed organism.

(b) Penetrance (ii) Relationship between twins or other family members with
respect to a given trait. {

(c) Prevalence (iii) Number of new cases of specific condition on disease tl!&{t arise
during a particular period of time. f -

(d) Incidence (iv) Frequency of occurrence of a given condition among a certain
population at a particular point of time.

Code : - f

@ () (9 (d) 4 \

® @O @ @) (@) q -

(2) @) @) @O (@) / ;

G @ @ (@) (i) f \

4) (@v) @) @ @ f \ '

13.  Which of the following significant changes have beerélcorpotated in DSM-5 ?

(a) The title of the manual is not QSM -V, but DSME5, a deliberate shift from traditional
Roman numerals used in previous editions toward Arabic numerals.

(b) Multiaxial Assessment SyStem - a central feature of DSM since its introduction in
DSM - III in 1980, has been dropped altogether from DSM-5.

() DSM-5 authors have 6verhauled the manual to emphasise neuropsychological or
biological roots of mental disorders.

(d) DSMS-5 authors have,removed 5 of 10 personality disorders previously included in that
section. Droppéd dis;frders are paranoid, schizoid, histrionic, dependent and narcissistic
personality disorders.

Code »

(1) (a), (b),(a are correct; (d) is incorrect.

“(2)  (b), (c) and{d)are correct; (a) is incorrect.

(3) (a) and (b) gre correct; (c) and (d) are incorrect.

(4) (c) and (d) are correct; (a) and (b) are incorrect.

14. Which one of the trait theories/ models is/are NOT based on factor analytic methodology ?

(a),  Allport’s Theory (b) Costa and McCrae’s Model

(c) "y Goldberg’s Model (d) Eysenck’s Theory

Code :,

(1) ( ) only (2) (a) and (c) only

(3) (b) and (c) only (4) (b) and (d) only

jooes HIHIHIIIIHH\ [ 1 Fapec
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ot Sfter 11 Ferge 3 @ S @ e fered faf s 7 22

(a)

(C)l' J Tieeer Aled (d)

sTerare fasr=a (b) I TS Toh I fagra

TSIk fag=

T

1)
(3)

b) 4 (
roosss [ TITHHINN

%I (a) (2)
A ( <) (4)
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15. The factors that operate with deep levels of processing are :

(a) Distinctiveness (b) Sameness

(c) Elaboration (d) Physical contours
Code :

(1) (a) and (b) only (2) (b) and (c) only

(3) (b)and (d) only (4)

—~

a) and (c) only
P 1
f

16. Observation learning involves following processes. Arrange them in the correct se?depce :

(a) Attentional processes (b) Retention processes { r
() Production processes (d) Motivational processes
Code : 4

1) @ =0~ @ @-=>@D—® 4

©) 4) /_)f—>br>d ©

17. Key issues in the study of environmental effgcts on 1ntelligence are :

(

(a) Reaction Range (b) | Proxi :an Distal Causation
(c) Colinearity (d) Environment Sphere

Code : 4 (

(1) (a), (b) and (c) only ( (2) (a), (b) and (d) only

(3) (b) () and (d)only

-«
( © (@) (a), (c)and (d) only

18. Read each of the following statements - Assertion (A) and Reason (R); and indicate your
answer using code given below :

Assertion (A) : According to two factor theory, cognitive appraisal of cues in the
| environment helps the individual label the emotions.

Reason (R) :* 4 An individual is aroused when he confronts any emotion producing event.
Code : P

(1) Both (A) a rgl (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

3) ( ) is true, but (R) is false.

(4} ) is false, but (R) is true.

19. Whether we can be affected by stimuli that remain outside our conscious awareness has
been examined by researches using a technique called :

(1) Cuing Visualization = (3) Imagery (4) Priming

poost HIHIHIIII\IHHIH\IIHH||||\|“|\|H||\|HH|||\|\||H|\ 5
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15. Gfsha0 & & TR o WY IRETer S ol R ©
(a) fomma (b) FFT
(c) fo=r (d) e wfand
e :
(1) 9 (a) 3R (b) (2) e (b) 3 (o)
(3) eI (b) 3R () (4) A (a) 3R () |
16. Yeror ifenm ¥ frefafed gfeand 9t €1 % Wl o1en | oFafen Hife | /s
(a) A FrE gfmand (b)  wfaeRoT gfsrand :
(c) Seed WsHAd (d) SRR wimad
f | (@) = (b) = (c) = (d) 2 @ =)= b +> ©°,
3) (d) = (a) = (b) = (9) (4) (j}p (b) > (d) = () ”
17. g@mW%gw%amﬁmm,-éz l
(a) Al TR (b) | wHTey iy Ty wRE
(c) TE-Feadl (d) uaiaw‘?%
f FI (a), (b) 3 (0) ‘ Y2) (a_(, (-b)‘?’?;{ (d)
(3) e (b), (c) 3R (d) ‘ ? J @ w @), ¥
18. frfafaa < el - afirere (A) 3R ek (R) 1 afeu qen == fSU TTT e 1 S i gu I
Tﬁ:i?i(;&) fg- WW%WW??WW HHAICHE Tedioh Holi o ook
AR fl{wm FA T
e (R) : qﬁoqlomaasgm‘aﬁ?n% & g HAT YT HI STEA HSAT T GIHAT BT | |
? (A)SﬁT( 3 “ﬂ%ﬁ%aw (A) T TE AT HIAT |
) (A) 3R (R) € Wt 1na(R ), (A) 1 TE =T T
3), (A)afr% ‘TFgI,(R ) T B
(4) (A)W% T (R) T ¥ |
19. ﬁ@wﬁﬁmﬁm = STTRehdl § ol Bid ©, 379 Jifad & Hehd & 2 3y g0 fhd
TRk okl TN hich STeh! UM i T8 2
(1) STk (2) WHE y&&few (3)  foa A (4) IR FR
e (VT 1
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20.

21.

22.

Which of the following sequences depicts Erikson’s stages of development correctly ?

1)

Adulthood.
()

Adulthood.
3)

Adulthood.
4)

Adulthood.

Oral Sensory — Muscular anal — Locomotor genital — Latency — Adolescence —
Muscular anal — Oral Sensory — Locomotor genital — Latency — Adolescence —
Oral Sensory — Muscular anal — Latency — Locomotor genital - Adolescence —

Muscular anal — Locomotor genital — Oral Sensory — Latency — Adolescence —

¥
i

Match List - I with List - II and select the correct answer by choosing from Coc{e _given
{

List - II
(Explanation), i
(i)  Discrimination of fine detail and color

L

(i) Specialised for brightness contrast and for
move t. -
(iii) Neurgms that fire most when they receive input
from'both ears af the same time.
(iv) Analysis a_complex wave into sine wave
component
4 (
</ '
Y

Match List - I with™List - II and select the correct answer by choosing from code given

below :
List - I
(Concept)
(a) Magnocellular System
(b) Parvocellular System
(c) Fourier Analysis
(d) Coincidence Detectors
Code :
@ () © @
O 6 @ G @)
@ G @) O @
@) @ @ @) ()
@) (v G @ @
below : {
List - I {
(Concept)
(a) = Inductivefithought
/ (b)

Logical th(}?ght

(c) Deductive thought
(d) Tlogical thought
Coclle : |
L@ B (@
MW@ @ @) @)
(2) @ @) @) @
®) (iii) (iv) (@) (i)
@ Gv) (@) @ @
poosss [T

List - II
(Explanation)
Thought that is intuitive and haphazard.
Thought that applies a general set of rules to specific
situations.

Drawing conclusions on the basis of principles of learning.

Thinking in which a principle is inferred from a series of
specific examples.

14 Paper-II
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20. Tr=Afafed & § -9 50 TR & faohrd de =)o 1 &t €7 9 i & 2
(1) Hifgs Gt — HEURTT T&T — TRMR AN — G — FReRmaen — aaehd
(2) WIGUEE [ — A GAG — TAlRMIE ST — Tl — foRviRmewen — Skl
(3) HifEs A — AIFUR T[QT — YA —> Al ST — FoRviRrewen — ekl
(4) WIGURIE TR — AR SN — HiEh Hogl — T — FhviRewen — ekl
21. Gt - I SR ge - 11 %1 gafad Fife eIk = fu 1 fe § 9 9@ S| g o
gt - 1 Tl - 11 P
( 3TFYIROT ) (TrETRTuT ) I .
(a) HHEHTIR T () g&| foeRe ok a1 w1 faddeon
(b) AR a3 (i) i o 3R Heer ¥ fofbmed o=l
() BRER foagervyo (i) I T 579 Teh & THA R M| S A TS0 HA
GBI W@ﬁ%l 'i
(d) IR HYgIR (iv) feet § o1 f T =2l & &9 H faweron
@@ (b) () (d) ’ |
O O @ G @) U
(2) (@) @v) (@) (i) .
®) G @) (v) (i) A { f
(4) (v) (D) (@) () ( -
| ¢
22, Gelt- 11 Get - 11 % wror Gafeqq g of freafafad 2 1 78 o ge ol w6 7o
FI :
it - 1 € . N gl - 11
(or@umunr) | ( (EaEteRTuT )
(@) W foER| (i) I faamem S sfa: yareTes iR sTerafeed ¥
(b) . ek fergR (i) =% foamem s fafire aRfafal & gfa femi & T 9w
, Piat G W1 AN A & |
L © ﬁ“TH‘FIWfF\?W (iif) AT % fogidl o SaR W Ry fhrer |
(d) e faam (iv) % foemeum faad fagia faftre SRl =t e g 9
. ' STHI Rl STt ¥ |
4 |
L@ B © @
M ¥@H @@ @) ()
2 @ @) @) @)
(3) (iii) (iV) (i) (ii)
(4)
o il L
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23.  Which of the following personality questionnaires have a lie scale ?
(a) Edward Personality Preference Schedule
(b) Eysenck Personality Questionnaire
(c) Minnesota Multiphasic Personality Questionnaire - 2
(d) Rotter’s Locus of Control Scale.

Code :

(1) (a) and (b) only (2) (a) and (c) only

(3) (b) and (c) only (4) (a), (b) and (c) only !

24. Read the following statements and describe which are correct : { &t

(a)  Archetypes are themes that have existed in all cultures through history. r

(b) Personal unconscious is the region next to ego which consists of all the forgotten
experiences that have lost their intensity. d

(c) Masculine archetype in men is called animus. - F

(d) Persona is a compromise between demands ofithe environment and necessities of
individuals. !

Code : ./"J £ |

(1) (a), (b) and (c) are correct ; (d) is not cqfrect. | I-'
(2) (b), (c) and (d) are correct ; (a) is not gorrect. J
(3) (a), (b) and (d) are correct ; (c) is not correct. '
(4) (@), (c) and (d) are correct ; and (b) is not correr#j

25.  George Sperling (1960) studied iconiGmemory using {
(a) Partial-report procedure < I (b) Whole-report procedure
(c) Self-report procedure V4 ® (d) Backward procedure

Code : =
(1) () only (2) (d)only
(3) (a) and (c) only (4) (b) and (d) only
i
26. Match List - I'with List -/IT and select the correct answer by choosing from code given
below : '
List - I* 4 List - II
y (Sub Test), (Test)
" (@) Visual Puzzles | @i WAIS-1V
(b) Famous people (i) Kaulfman Adult Intelligence Test (KAIT).
(¢) Matrix Task (i) Cognitive Assessment System (CAS)
(d) = Matrix Pafterns (iv) Otis-Lenon Test
Code :
L@ B © @
OGO @ @) W)
@76 O @) )
3) (ﬁi) (iv) 0
@) (v G @ @
Fooss Il 1 Fapec
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23. I"i‘-"ilc’il‘eld °<4|°|‘\'l‘4{°|') H?"iIOIIQ’iﬁII'ef S{ACH Hl‘HI %
(a) TS Afedc ALl ST
(b) 3TESich AfeRTE YA
(c) THde Jgwa e yeEe - 2
(d) UH Y 3F FHrglal Thal
ETE
(1) 9 (a) 3R (b) (2) FA (a) W (c)
(3) e (b) 3R () (4) A (a), (b) 3R (o) y
24, Tl sl B 0¥ o T & i Y AT HE F w2 {1
(a) o vey o fawa € S wegol e § wefad @ €1 | f
(b) Wﬁmmwww%ﬁmﬁﬂwﬁqwémﬂaﬂw@ﬁ%wm
[EREGREES
(c) T § UIedig 3T WEY o T FEI @ISl 4
(d) qﬁmmﬁmﬁmﬁaﬁ?wﬁaﬁﬁm%ﬁﬁaww%l
%< /
(1) (a), (b) AR () T E ; (d) TA T &1
2) (), () ()T E;(a ﬂﬁfﬂé%n ’ ‘ '
(3) (a),(b)aﬁ'{(d)l:l'é% aﬂt EEECE ;’J
4) (), () 3 (d) T T ; 3 (b) WAt & 2 ==y
25, aﬁwﬁm%oﬁﬁw&mﬁﬁmﬁwmgﬁmwwﬁwawm?
() orifee-fd wefafs W S )  wefd sy
() w-fdd wefafy VA (d) fooeh wrifafy
<
(1) o (a) “ (2) hoR (d)
(3) F (@) AR (f (4) 9 (b) ¥R (d)
26. e - I 3R it - 11 61 Gaferd shifee 3R i fou e e # & 9d@t SR g
et -1 et - 11
(3a-wterur). (‘rteroT )
(a) =gy '- () SYTIARTE. -1V
(b) g Al | (ii) PIRHT T 5 THEU (h.TITE2.)
(c) Hfewa wr, (iii) HIHIEH oA omet (§.0.T9.)
(d) Hfeea gfaqm (iv) SNfeq-oma Tdem
e :
@ () (9 (d)
1)~ @ @) () (i)
) @) (@) (v) (i)
(3) (111) (w) (i) (11)
(4)
e |\|\|H|| 7
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27.

28.

29.

30.

poosis H|H|H||

Which of the following terms explains the Reinforcement which is given only if a specific
response is made ?

(1) Concurrent Reinforcement (2) Incremental Reinforcement

(8) Contingency Contract (4) Contingent Reinforcement

Read each of the following statements - Assertion (A) and Reason (R); and intdicate your
answer using code given below : ¥

4
Assertion (A) : A person scored high on Hope of Success (as measured by TAT) aﬁd‘high
on Fear of Failure (as measured by Mandler and Saraspn’s TAQ). As per
Atkinson’s theory, his resultant achievement motivation will be

intermediate. {
Reason (R) : As per Atkinson, the resultant achievement mgqtivation is a product of Hope
of Success and Fear of Failure. g \ {
s’
Code : y .
|

Both (A) and (R) are true, and (R) is tllfle correct explanation of (A).

¥

r
J

(A) is true, but (R) is false. y

-

(1)
(2) Both (A) and (R) are true, but (R) is not the Cc}?t'.t explanation of (A).
®)
4)

(A) is false, but (R) is true. “{ (
- 4_'{ '

!
Read each of the following.statements - Assertion (A) and Reason (R); and indicate your
answer using code given below :

Assertion (A) : Per'épnality factors such as D, ], K and P are not incorporated in Cattell’s
16 PF testl.

Reason (R) : | Some personality factors appeared only in Life - data (L-data) measures.

Code : 4

a

- (1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
@)= (A)is true;I but (R) is false.
(4) (A) is false, but (R) is true.
i
Dur’mgr which stage most of the creative thinking occurs ?

Preparation Incubation (3) Ilumination (4) Evaluation

dll H“\|H||\|HH|||\|\||H|\ 1
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27. Trfafed § @ Sy R Yoo S S €, S adt 3cf 2 © afe fafdre stfan
el & 2

(1) HHt gerers (2) e Yoo

(3) TR Hfera (4) 3THEHS Yoo

28. Trafafed 21 el - AfueRe (A) SR T (R) i dfeu qen = fS 7T H2 1 ST i gu T
IR SIS \ y
USRI (A) : woqfem?rwmmm(@mﬁﬁmﬁgmww)ﬁimurcﬁ%a

(@mﬁﬁ'smiaﬂ'{wuw«mww)Wﬁ%&?ﬁml T &
fGId o STTIR SHh! URUNTHG ooy STFIURON Hezadt aRT |

e (R) : er%rwé?agauqﬁwﬁﬂmsﬁﬂ@wmmsﬁ?m%ﬁaw
T S et ¢ | "~ B - |

-

%z , |
A) 3R (R) S T & 7 (R), (A) F TH o T

1) (A)

() (A)@T(R)aﬁﬂ%?%‘,W(R),(A)aﬁaﬁw@%;ﬁ%l
(3) (A)WE §, 9 (R) TTerd i
(4) (A)TEE, WY ®)FAT N4 (

-9 i
29. ﬁmﬁrﬁ@ﬁﬁwﬁ—alﬁma?[maﬁwzk(mﬁwﬁ@qamﬂ%ﬁqm@aﬂmﬂwﬁ@m
IW S
AfUeReT (A) : SN 3R P S8 SAfHK FRE hed & 16 T.TF. TWierwr § gorfed =& oy

T
e (R) : ‘ | T3 Al HReh had Sia-l gad A9 § STedd g |
e : %
- (A)W(R)ﬁ'ﬁ%am(n),m)m’raémm%
@) (A) 3R (R) &1 W&t §, W (R), (A) T & == T T
(3)7 (A) ¥ &, T (R) TR
@ @)

A) T § W (R) T T

30. FRE =01 3 SR Stfeehat oAt e e S & 2
1) (2) ]I 3) W&A (4) TAIRA

1)
yooss [ ITNANEAI 1
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31.

32.

33.

34.

35.

Match List - I with List - IT and select the correct answer by choosing from code given
below :

List - I List - II
(Concept) (Explanation)
(a) Disjunctive Concept (i) A class of objects that have two or more features in

common.
(b)  Prototype (i) Showing relationship between object and surroundings.
(c) Conjunctive Concept (iii) Showing the presence of at least one of several possible
features. e

(d) Relational Concept (iv) An ideal model referring to a particular concept. p
Code : d

(@ (b) (c) (d) f r
(1 @ @) () (iv)
(2) (D) (v) (@) (i) y
(3) @) (D) (@) () : f
@4 (v) @) @ @ { °

g ¥ L |i
Chimpanzee Sarah’s one of the most outstan/d‘ﬁ*lg achievements was the construction of
sentences involving : F. i
(1) Negation (2) /Conditional relationship
(3) Adult grammar (4) [ Unprompted questions

In a typical ‘Learning’ experiment which of the follow}ﬁig are used as dependent variables ?

(a) Probability of Response (b) Latency .o . ¢

(c) Rate of Presentation % i(d) Trials td Extinction
Code : { |

(1) (a) and (b) only . ¢ (2) (b)and (d)only

(3) (a), (b) and (c) only Vi (4) (a), (b) and (d) only

Explanation of the moon illusion given by is, “The horizon seems more distant
than the night sky.” ™+ _
(1) Perceptual learning hypothesis  (2)

(3) Apparent - distance hypothesis  (4)

Expectancy hypothesis
Frame of reference hypothesis

Absorptive phase of energy mobilization involves the following events. Arrange them in the
correct sequence

4 o
(@) Glucose incﬁ:eaégs.

b) Parasympathetic activation.

¢) Pancreas secretes insulin.

d) _ Glucose enters the body cells.

e)  Glucose is stored in liver and muscles as glycogen.

f),  Fat stored in adipose cells as triglycerides.
Code :
(1) ¥ (@) = (b) = () = (&) = (d) = (f)
(2) @ — ) = —(d)—(e) =
3) @ —=()—= ()= (d)— & —(e)
4 @—>@d—>0 =0
pooss [ [[FTNINIEN 2 Faper
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31. EIT- 1R Gt - 11 3 |1 afera o o) = fSu 70 e 9 |é S &1 =97 &

et -1 et - 11

( 3T ) ( TAETeRTuT )
(a) fode duera () aegeli =t ww goit fe = iferen fafireant wdfTs 2
(b) efg g&q (i) % IR afEw & foa ey gl
(c) HaSH I (iii) S G9a faferedisti § 4 w9-9 %0 TF *1 ikl gui |
(d) HUE e (iv) T fodi SY@R H1 Gefd T A T oTed ‘;ﬂ_[ﬁl’@?l
%< ’

@@ () (9 (d) {
1 @ @) @) (i) { r
(2) () @(v) (@) (i)
(3) (@) () (@v) ()
4) (v) (@) (@) ()

32. Wmﬁmmww@ﬁﬁﬁww@ﬁmmﬁm T ATl ATl bl ToT

HTAT o1 ?
1) fmy ) aw'cf LEL ."

(3) IR AR
33. HI&Me® ‘srfam’ Wﬁaﬁaﬁmﬁwﬁf@ﬁﬁﬁ

(a)  STIfHAT sl THHTEAA £
(d ﬁa‘m ?:qﬁ&m

() W P X 4\
e Y
(1) % (a) W (b) Vv © @ FEE) SR
(3) FFA (a), (b) () (4)  FF (a), (b) 3R (d)
34. ‘'Teafest T el | SN X Wl @At 1 T SR S T TS 9 S AT
(1) wrcafarsh StferTs B (2) YT YTeFheaHT
(3) TAW-gU YrEhedT | (4) HeH TG Ykl
35. il Y[ % I =01 % Wi Frefefad sed 9 ¥ 3% W ey # st wifv
() T AR
[ (b) u-srge i

(c) ST Sgfer wnfad i T

(d) TIRIE IE T HITRIST H Tow LT ¥

(e) " oIk ] IR WrEAYEl # oo % w9 wied g g
() T8 gEmY SRt # erefamree % w9 § w@ibd 2 g

poosss ||

I\I\IHII 2
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36.

37.

38.

39.

40.

jooss HIHIHIIIIHI“

In a multiple regression analysis, the three predictors explained 49 percent variance in the
criterion variable. What would be the value of multiple correlation ?

(1) 0.30 2) 0.49 (3) 0.51 4) 0.70

Read each of the following statements - Assertion (A) and Reason (R); and indicate your
answer using code given below :

Assertion (A) : The analysis of time series designs often involve the problem of auto

correlation. i

Reason (R) : Quasi - experiments, as compared to laboratory experiments, de not gontrol
secondary variance efficiently.

Code : f f

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (Ai.f
(3) (A) is true, but (R) is false. 1 { ;i'
(4) (A) is false, but (R) is true. P
|'III'/‘J .II
Future oriented performance appraisal techniques consist of :
(@) MBO ®) | 360° Aéppr'aisal
(c) Psychological Appraisal (d)" BARS
Code : — £
1) @ Oandd @ @ OO @ O ©andd @ (@), () and (d)
« 1 '
In group counselling, what is the correct sequence of stages of group development ?
(a) Forming “(b) Norming () Mourning
(d) Storming (e) Performing
Code : !i' -
1) B->©@Q=>@>E@>d @ @-d->0 - -0
B @-@QbE->b)->Ed @ (@)-@->E0 -0 -0
|

Read each of thefollowing statements - Assertion (A) and Reason (R); and indicate your
answer using code given below :

Assertion (A) : Pre-operational child is incapable of performing operations.

Reason (R) : | Pre-operational child cannot mentally re-arrange a sequence of events into
| reverse order.

(1 ) ; Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) = Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R ) is false.
)

4 ) is false, but (R) is true.

AR 2
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36.

37.

38.

39.

40.

Sgfaehedrd gfamea foversor ® @9 qaaient 3 Ao fama § 49 gfaem fsmm &t =men @@t g
Ig-TeuEY od | fefafaa § 9 s w2
(1) 0.30 (2) 0.49 (3) 0.51 4) 0.70

frefafea < sl - feRed (A) SR ek (R) I 9feT qer == fST 7T e 1 ST I U ST

wé‘rﬁq:

afireRer (A) . T9F 9ot 3ifiyehey 1 favaiy @ Tg-GeY ®i g I: wihd )

e (R) : Wﬁwaﬁmﬁaﬁﬁwﬁ?ﬂwﬁwﬁaﬁwaﬁﬁaﬁaﬁ

HATE | L

%R : |

(A)W(R)ﬁW%HW(R),(A)ﬁ@WW%I
A) 3R (R) TF1 96 €, T (R), (A) T T&l IR Tl €1 .
)W%,W(R)W%l J r

(A)W%W(R &2 P, )

(2

(3

(4

e~ - frsares qeien gfafe=i o - #:mw%a%
(a) THSS. (b) | 360° xmﬁ‘q

(c) nﬁéaﬁaﬁw d) | shw ;;'iw

O @ OB @ @OFALW @ O OI@ @) @ ©

TIE T H, Wﬁmﬁ?w‘%ﬂ%ﬂw%')

(a) faum (.b) Rfaam (c) foema

(d)  SATHHR (e) ToarEm

%< : e

1) (b)) = () = (@)= ()= (d) 2) (@ —=(d)—> (b)) = () = (9
B) @ =)+ —=(b)—>(d) 4) (d)—>@—=>[®) ==

Fretferfia < F9R SAURA (A) SR ek (R) 1 IIQT T el FST T e 1 ITART L Y STIAT

/ SR T

AFUFRT (A) : meuﬁaawwmmmﬁﬁaw%l

e (R) : Wuﬁwwmnﬂmaﬁxmwﬁwmﬁm
' lﬁww%

e :
(1)', (A) 3R (R) S W& & T (R), (A) HT TE A FA |
(2)T(AaﬂT(R)aﬁfﬂé%m(R,(A)ﬁﬂéwﬁ%ﬂ
(3) (A)H%FT%W(RW%I

(4) (A) 7@ §, T (R) T& T

poost HIHIIHIH\HHI\|\||\|||H\||\|HH|||||“||H||\||\|\|H|| 2
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41. Read each of the following statements - Assertion (A) and Reason (R); and indicate your
answer using code given below :

Assertion (A) : For extraversion, monozygotic twins correlated more than the dizygotic

twins.
Reason (R) : Extraversion has genetic basis.
Code : f
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A). ..(" "

(2) Both (A) and (R) are true, but (R) is not the correct Explanation of (A).

(3) (A) is true, but (R) is false. i .
(4) (A) is false, but (R) is true. - \ (
A\’
F i i
f/ l !
42. During autobiographical recall, we often reveal a |/ ,as aconsequence, our memory
of the past may be \ '

(1) inconsistency bias; distorted (2) consistency pias'f distorted

(8) inconsistency bias; enhanced "(4) consistency bias; enhanced

</

b .t
43. Persons with a leison at the Ventromedial nucleus are likely to :
(1) Overeat !i' 5 (2) Undereat
(3) Eat normally { (4) Eat normally or undereat
"4

F -
f

44." The percepts are Faséd on:

(a) “What we sense (b) What we know
(c) F What we infer (d) What we conform
C(:‘d‘c; :
(1) - (@) and (b) only (2) (b) and (c) only
b) and (c) only (4) (a), (b) and (d) only
A 11—
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41. frafafea S weFi - IfUEwRe (A) 3R aeh (R) T afet IR i< fT 7T e =1 ST A Y ST
IWR ST

AR (A) :  Sfeq@Ed & T T s g, fggramst godi ot gor o S1fush He-gafed Bid

g
e (R) : el 1 TS TR Sl 7 |
He ;
(1)  (A) 3R (R) S W § 37 (R), (A) T WEH =€ T | -:‘;
(2) (A) IR (R) S & T, T (R), (A) i W AT T €
(3) (A) W & T (R) T ¥ y
4) (A) 7T ¥, T (R) TE 2 f/'ﬂ’ | 1,:; -
42, STTHFHUTEF 1T, o SNH, B9 TH: ,'FI = Ohd.JLh{\'l ¥, ThoTea®y, 3Tdid o o | gARI
wfd A T i »-/
(1) ST e ; e e W?‘rqgﬁw&m
(3)  STEAA qaiyg ; aftid </ “‘(4) HIqdl gaie ; afdd
1 p d
43, AT S I A A 2 P S e 37
(1) Afeer @ !{ ” (2) HHGM
(3) I ¥4 @Ml (4) HMNI®Y 9 9 FH G
‘4
44. voe forg ™ sn&?fa*@m%?
() snshn%gqaaﬁ% (b) TS W E
() &a S Freenl freprera & (d) &H 5= 9 o qeH w1
=
(1) " %9 (a) 3R (b) (2) e (b) 3 ()
(3) e (a), (b) R (c) (4) I (a), (b) ¥R (d)
yaosss ||| HLHIINA N 25
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45. Match List - I with List - IT and select the correct answer by choosing from code given

below :
List - I List - II
(Concept) (Explanation)
(a) Phrenology (i)  Field that locates areas of the brain responsible for specific

aspects of emotional and behaviour functioning.

(b)  Selective Breeding (i) An approach to establish genetic - behaviour relationship
through mating of successive generations witha particular
trait. -.r‘;

(c) Plasticity (i) Ability of parts of neurobiological System to change
temporarily and for extended period.time.

(d) Twin studies (iv) An approach to establish of genetic - behaviour
relationship through the comparison degree of similarity
among identical twins, fraternahi twins, and non-twins

siblings. /‘J »

Code F |
@ b © @ [\
1 @ @ @ ) ‘ Hj
@) @) () (@v) (i) 4
@) (@) @v) @ @) LY (
@) (v) (@) @) @) < ,;{
¥

Instructions for Questions 46 to 50.
Read the following paragraph and answer the five questions which follow :

A researcher in expei‘lmer*tal psychology hypothesized that a particular ‘Reward System’
for fast reactions would improve the reaction time. To verify this hypothesis, he selected forty
subjects in the age range of 25 to 35 years from an organization. Following the standard reaction
time experiment, he fheasured the simple reaction time without the reward system. While taking
eachitrial in the experiment, the time-interval between the ready signal and the onset of stimulus
was randomly varied between two to five seconds. In the second part of the experiment, the
reward system was infroduced and the simple reaction time was measured again for the same
subjects. The mean reaction time before the introduction of reward system was 210 milliseconds
and the mean reaction time after the introduction of reward system was 250 milliseconds. The
differenge between the two means was statistically significant at .01 level.

|

5

46. In the above study, the researcher’s hypothesis is :

(1) Correlational hypothesis (2) Directional hypothesis
Non-directional hypothesis (4)  Null hypothesis
Fooss H|H|H||||\ AR 2 Faper
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45. Gt - I SR G - 11 1 GAfed witee ik = few T e § 9 @& ) g

T - 1
( 3T )
(a) <huTed oM

(b) FIAEER TS

<

@@ (b) (9
1 @ @) ()
2 @ @ @)
(3) (@) (@v) (D)
(4) (v) (D) (i)

d)

iv)

(
(
(i)
(
(

i)
i)

et - 11

(=TeET)

() % st &, faaH afess & 3 fafvs &5l o1 Tt

foRal ST &, ST Solill 3R SHeeR fsharcrehar o fafve qeqsti o
fore fomem ¥

(i) T 3UTH, FSE Said Wﬁ'@'&?ﬁﬁ‘ﬂ@ﬁ@ﬁﬂﬁ%ﬂﬁﬂ

Y hEl R SAARIE R AR & g Hey + T
[ERIS GRS | i

(iii) TAgfaH TR o At aﬁmaﬁiaéwésmtrﬁaﬁwﬁm

Eale el

(iv) STafiIeh HeeR Heitl & eﬁmﬁww forgd THEyT I9,

fore zmrst o E- a'gtﬁ % S FHE a1 ST oA hi
sl [

¥

frfafaa uf=se =i ufey v = fau dier wvsil 46 | 50 w1 SF ST :

TR TR % ekl TTehedH o & T iftd gfafsmanel % fou e fasia wiftdifes yoreh
fafshan et =l gUR 71 59
i # =rene faufadi o === fhar | A gfafsran sier 99 & e, Seiv SR Wi Jome & 91

wfafshan st =T AT Tk
e ! Aoz &9 Gl
T SR 3 foufaE &

T AT L o T, =i Th HeT F 25 W 35 T4 o 7Y

Pt 1 T o T ) SR T, S TR SR S5 e 3 A e
§ ure Sehve fus T AT | WA S g 9T H, wifciftes gomedt 1 v fama
T giaferan e fR | | 731 qiiaifees gomell 1 STE i 9 98

g gfdafsman s 210 Ta.8e0e o iR TGS Jornelt o1 ST wid & o1e 3i9d gfdfsan s 250
. dve o) aﬁﬁwﬁ%ﬁawmwmﬁﬁmﬁamﬁmﬁmm

A
46. A AT H, e H R Y ?
(1) Geawerst Jraere
3) AEIFE ek

yoous |||

2) e yreheu

(4) 3T gISFhYAl

27 Paper-II

www.examrace.com



47. Which of the following statistical techniques can be used for evaluating the mean
differences ?

(a) Independent samples t-test (b) Paired samples t-test

() Mann-Whitney U-test (d) Repeated measures ANOVA
Code :

(1) (b) only (2) (a) and (b) only

(3) (b) and (d) only (4) (a), (b) and (d) only

P
[

48. Which one of the following conclusions can be drawn on the basis of the‘above stu,ﬂgf v

(1) The researcher’s hypothesis has been accepted. ] F
(2) The researcher’s hypothesis has been rejected.
(3)  The researcher’s hypothesis has been partially accepted. 4
(4) Inadequate hypothesis to verify the hypothesis. | { Jq’
-
49. Read each of the following statements - Assg(t‘i‘(')n (A) and Reason (R); and indicate your
answer using codes given below : / . f

Assertion (A) : In the above study, the for(leperiod wefe randomly varied.
Reason (R) : Random variation of the foreperiods geduces the false reactions.
Code : — Vi

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are truepQ'ut_KR) is not the correct explanation of (A).

(3) (A) is true, but (R) is falsey

(4) (A) is false, but (R) is frue.

50. In this experiment, reaction time can be labelled as :

(a) Continuous variable | (b) Dependent variable
(c) Stimulus variable (d) Behavioural variable
Code : d
/(1) (a)only (2) (a) and (b) only
(3) (a), (b) and f(c) ornly (4) (a), (b) and (d) only
51. In Vertebrates, IT[yelin is produced in the brain and spinal cord by , and in rest of

nervous system by

|
(1), Oligodendrocytes ; Schwann cells

w

(2) .. Schwann cells ; Oligodendrocytes
(3) Astrocytes ; Microglia
(4) Microglia ; Astrocytes
pooss [ [[FTNINIEN 2 Faper
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47. Tr=fafea § 9 SHA-9 GifEsT dodie &l 39d 3T &1 3Thald Hid & U Suam fwan i
g7
z)w At gfacel t-adeo (b) Ifma faest e
() WE-foed U-wigm (d) SRR SFHET H1 A
?1_){ S (2) F (a) W (b)
(3) A (b) R (d) (4)  F (a), (b) S (d)
48. I FEPA R R FrefafEd 3§ A e Feen 1w § 7 { s
(1) irEehdl i AERheIT %l TR T fon T 7| f f
(2)  ireIhl i WIERhTUAT i STEERR R feam T
(3) SN HI HraFhes 1 S T4 § TR 6 7 | '
(4) UTFRTHAT T HATIH i o T STIATT HTHRReIHLI « (
49. frafafea < weFi - IfaeRe (A) R 9 (R %ﬁawﬂ%mm@aﬂmﬂm‘{ﬁ@m
m( A):  SwiE eRE b, wm?ﬁ%ﬁﬁq—rT@W|
e (R) : 37 hiedl shi Argeseh fafeerd Hism digfsranati =i == <di 2|
(1) (A) &R (R) S =& ¥ 71 (R), (K)ﬁﬂéw%m%l
(2) (A) 3R (R) 3 T E, W}{K(A)aﬁﬂﬁwﬁ%l
3) (A) W@ &, T (R) na?_r_%m
(4) (A) 7T T, T (R) T ¢
50. 39 WAN H, gfdfshan OI:IM wr fAfafed § @ @ a9 fon s e § 2
(a) TR - | (b) enfaa ="
(c) SEU El'{* (d) THEEREH =R
<< :
[ (1) *d (a) g (2) o (a) 3R ()
(3) FA (a), (b) 3R (0) (4) F (a), (b) 3R (d)
51. oRfesie #, Hl%dwlaaﬁ'{ﬂ'c?aﬁ%@ﬁ SN AEfe 3o Bt § R ¥W dfreR dF |
T S Bt
(1) dﬂcfu TESMEH ; YoM ShIfTeRTE
) - Al AT ; AN aE
(3) WP ; WERIEE
(4) SIS ; TEHEIE
poouss | [R NIRRT 2 Paperi
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52. Read each of the following statements - Assertion (A) and Reason (R); and indicate your
answer using code given below :

Assertion (A) : Algorithm is a logical rule that guarantees solving a particular problem.

Reason (R) : One can find the solution even to complex problems by following step by
step procedure.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A). ]

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). | -

(3) (A) is true, but (R) is false. ..f‘; "

(4) (A) is false, but (R) is true. f r

53. Match List - I with List - II and select the correct answer by choosing from code given

below : r
List - I List-II © - §
(Personality tests) (Dim?,ﬂps(ions cgv,ered)
(a) EPQ-R (i) Need for power fl-l
(b) NEO-PI-3 (ii) Psy¢hoticism |
(c) TAT (iii)) Anxiety asjs te
(d) STAI (iv) Openness to experien‘f:e
Code : %4 f
@ ® © @ of |
M @ G O @y
@ v @ O @ ~
@) @) Gv) G, 6
@) O Gv) ()¢
w |
54. The basic speech sounds are called ; and the meaningful smallest units of speech
are called ~ 4
/(1) Phonemes«Fixation (2) Phonemes ; Lexigram
| (3) Morphemeg ; Phonemes (4) Phonemes ; Morphemes

55.  Which of the following concept/s is/are not found in Freudian Psychoanalysis ?

(a)ll Unconscious motivation (b) Collective unconscious
(c)}, _Striving for superiority (d) Instincts
Code :
1) (r) and (b) only (2)  (b) and (c) only
(3)  (c) and (d) only (4) (a), (b) and (d) only
poosss [N . Fapec
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52. frafafaa < wedi - IR (A) 3R ek (R) T afe IR i< fT 7T e i ST A Y ST
T
waxﬁmm (A): TUoiRen U difher 990 © S ek fo¥i SO & ETem i TR <1 B
e (R) : T AT HEH-SX-HeH HETAY H I Fh Sfed oS 6 qHEe o
I Y Hehell § |
<
(1) (A) 3R (R) ST &l € 31 (R), (A) T T =0 7 |
2) (A) 3R (R) S =& €, T (R), (A) FT T =0 T 7 | {
3) (A) T T, T (R) T i
(4) (A) 7T T, T (R) T T
53. WE - I SR e - Haﬁgﬁﬁﬁaﬁmaﬁwﬁﬁqnq@ﬁ@ﬂﬁws{m
el -1 it - 1 ’
(eaferte TrdteroT) ( ") |
(a) EPQR ) mﬁq’emerw J
o @ el
(d) STAI (i), (ST 1 gaqu
%< = |
(@ (b) () (d) \ ¢
(1) @) (@) @ () o
(2) (@v) G) @) (i)
3 @) @v) (@) O°
@) @ (Gv) () @) (
54. TEIA A1 AT el € SR a1 wiefeh TEEd SRt e ¢ |
1) Frifte (2) EH; Al
(3 wium; wﬁrﬁ? (4) w&fH; wfud
55. ﬁﬁiﬁ@ﬁﬁﬁaﬁ;{—ﬁr STAYRUME 1S o AT fogeroor H & g <t € 2
(a) oA erfmTon (b) THfew T
(c), e < ferw T (d) ¥ wfr
%t
(1) et (a) 3R (b) (2) e (b) 3R (o)
(3) A (c) 3R (d) (4) A (a), (b) 3 (d)
roosss [[[{HNNIANVLANNN d
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56. Tests of declarative memory are termed as tests, whereas tests of non-declarative

memory are termed as tests.
(1) Long-term memory ; explicit memory
(2) Short-term memory ; implicit memory
(3)  Implicit memory ; explicit memory

(4)

Explicit memory ; implicit memory

Ty

57. Which method is used for memorising a poem ? : r" )
(1) Massed practice (2) Distributed practice i r
(8)  Serial memorising (4) Syntactic memorising
58. makes neurons stand out visibly depicting which fleuri;{:ls are active ; whereas

uses antibodies attached to a dye to identify cgllular components such as receptors,
neurotransmitters, or enzymes. /ﬁrl

II
(1) Immunocytochemistry ; Autoradlography . .n'l
5 J

Autoradiography ; Immunocytochemfstry \

r
J

F
Fd

(2)
(3)  Myelin staining ; Nissl Staining
(4)

Nissl Staining ; Myelin Stainina -

(

59. Which of the following are pre&?&t@_{:s of good prognosis in Schizophrenia.

(a) Positive symptoms . (b) Late onset
(c) Acute onset (d) No precipitating factors
Code : !i' -
(1) (a), (b) and (c) are correct ; (d) is incorrect
(2) (b), () fmcll (d) are correct ; (a) is incorrect
(3) (c), (d) anéa (b) are correct ; (a) is incorrect

[ 4) (a), (0 andjfd) are correct ; (b) is incorrect

60. The body’s response to danger is triggered by the release of by the

glands. |

(1) Acetylcholine ; adrenal
(2) " Epinephrine and norepinephrine; adrenal
(3) Acetylcholine ; pituitary
(4) Epinephrine and norepinephrine; pituitary

pooss [ HITHANNN 5
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56. EIYOMCHS Ffd & HT9I i ST ST €, STfeh STeyvIcde Tgfd o |4l i

ST SR |
(1) s wyf; goea wfa
(2) Tcuhliae Wfd; sfafifed wgfa
(3) sfffed wf; goae wfa
(4) o fa; sfafifeq wyfa
57. il &I s w H Wia #i forg fafy o1 s foean s 22 { s
1) g (Are) s ) faafa sy f
(3) ShiHeh shaTerd (4) STHITCHS ShEedl
58, S S SR e 3 R S B e G S e 3
SeIfeh Wﬂ@@ﬁﬁwwﬁmwﬁﬁrﬁqﬁﬁwaﬁrwﬁﬂm%
SIY HUTEh, AFhHaNe, S7efal TSEH | /

(1) SRR, sterfedmT [ ‘ /
(2) STRfeAmTH; TR RAE H’ﬂ
(3)  wmsfe RfHT; e w&fH ;
(4)

frael w2, AEfam & “{ (
</ '
59. foSisfwn o fafacia HEAT R JATAS € ?
(a) ERRIHE HALUl (b) foretra 3cfd
(c) dier 3afa T g (d) IS T TG R T
<< :

60. TR ia TR HI ghatmn wioEi 3 T wmei & g Soos Bt

poost HIHII\\||H||H|\|\||\|||H\||\|HH|||||“||H||\||\|\|H|| 5
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61.

62.

63.

Which of the following is the characteristic of Mastery-Oriented Students ?
(1) They see ability as improvable.

(2) They feel competent when they succeed.

(3)  They feel worthless when they fail.

(4) They set unrealistically high goals.

A child’s cognitive transition from external influences to internal thoughts ocdurs in four

stages. What is the correct order of this transition ? /
(a) Naive Stage (b) Natural / Primitive Stage { y :
(c) Ego-centric speech Stage (d) Ingrowth Stage

Code : _ {

M) @00 @ B=@-0 7@

G @ =)= (- (4) ﬁﬂ, (@) j CIEAON

Match List - I with List - IT and select the a'correct answer by choosing from code given

below : [ _.
List - I List - I \ ‘j
(Psychologist) (Concept) =& y
(a) Bruner (i) Conservation f
(b) Vygotsky (ii) Icoxq'c thode of representation
(c) Sternberg (iii) Si:a,ffoldmg
(d) Piaget (iv) "Componential Analysis
Code :
(@) (b) mu%
M G )6 6
@ (v @y 6@ 0
@) @) ) B @)
(4) m<m%ﬁm
64. Which of the following issues are addressed in the field of Personality Psychology :
(a) Human Universals (b) Individual Differences
(C)I". Uniqueness (d) Modification of Behaviour
Cod}; ;
(1) (21) and (b) Only (2) (b) and (c) Only
(3) (a), (b) and (c) Only (4) (b), (c) and (d) Only
povas i g Fapec
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61.

62.

63.

64.

" gagH-3gE faenet’ #Y frefafed § ¥ wF-9 fodoand §

1) STH GuR 1 & feet =few |

2) ITH GHAAT T HIEH], WAl fHeH T STINT i S =16 |
3) THEA B W 3TH YeI-BIdT 1 ATHI BT =T |

4) ITH SFerdfdeh 3= HMGUS YA L i &HdT B |

(
(
(
(

T GHNE O T M MME PRI QP SENE 15 MG Su RS ST COF U N

FNR?

(a) 3TfeH =Rl (b) &SI/ JAfCHME =l |
(c) ATCHhIEd dep =0l (d) Fdfg = @
<
1) @—=>0)—>@C-—>M @) (b) > (@)= (@ = (d) |
3) @ —®)—>(d-—() @ O @ = ->©
i i
et - 1 st - 1 e Fif s A e T g A T I g
et -1 it - 11 '
(TR ) ( 3T )
(@ «qR @) Eeam W
(b) LR (i) m@ﬁwwmﬁé'
(c) et mn@ﬁ@T
@ frms (iv) S fagemm
e - -
@ () () ()
(i) () | (v) @)
(iv) (i) o (i) (D)
@) @) (). (@)
(iii i)

i) (il ”ﬁv) |

e TR & i  FrefaEd § 4 o e e fe S 2

(a) e gEfE (b) AT T

(c), eAfgeiterm (d) HIRR T HIMEH

FE !

(1) 4 (a) 3R (b) (2) e (b) 3R (c)

(3) A (a), (b) 3 (o) (4) &= (b), (o) ¥R (d)
roouss ||| NIRRT 53
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65. Match List - I with List - IT and select the correct answer by choosing from code given

below :
List - I List - II
(Psychologist) (Concept)
(a) Thorndike (i)  Equipotentiality premise
(b) Pavlov (i) Cortical Mosaic
(c) Wertheimer (i) Neural Bond  a
(d) Seligman (iv) Isomorphism -.'I"; )
Code : i r
@ () © @
M) G Gv) G ) : o
2 @) @) @) ) .4 Y
@) @ @ @) £ -
@) @) O @ @) £\

| ¥
¥

66. In case of visual stimulus “Where” pathways in‘t ' brain are mainly responsible for

processing : p

(a) Location (b) Colour.g (o) Mf:)tfoﬁ ) (d) Shape
Code : < f - !

(1) (a) and (b) only 'y < (2) (b) and (c) only

(3) (c) and (d) only - (4) (a) and (c) only

67. Which of the following sef}uences describes the Cranial Nerves in ascending order ?
(1) Optic — Trochlear - Abducens — Auditory - Vestibular — Vagus
(2) Trochlearﬁ—> Optic — Auditory - Vestibular - Abducens — Vagus
() Optic » Abducens — Trochlear — Vagus — Auditory - Vestibular
(4)

4)  Abducens - Trochlear — Optic — Auditory - Vestibular — Vagus

68. Many psycholoﬁists played pivotal role in the emergence of the field of Social Psychology.
Arrange them in correct chronological sequence.

(1)|'-. F. Allport; William McDougall; Kurt Lewin; Muzafer Sherif.
(2) 1' Kurt Lewin; William McDougall; Muzafer Sherif; F. Allport.
(3) V.;/illiam McDougall; F. Allport; Kurt Lewin; Muzafer Sherif.
(4) F. Allport; William McDougall; Muzafer Sherif; Kurt Lewin.

yoosss | TN
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65. eI - 1 3R Gl - 11 sl gafera wifse o) = feu e e # 9 9dt s g

gl - 1

(AT )

(a) dHeRS
(b) aara
(c) TREER
d) Sfeme
EA\R‘:

(@ () (¢ (d)
1) @ (@Gv) @) ()
(2) (@@ @) @) @
(3) (@) @ @) @
4) (@) @) (@) ()

(a) orafeafd (b)

66. g@m@waﬁﬁaﬁﬁ,“aﬁ"wwﬁwﬁw@mw%:
’ (<) @

<

(1) e (a) AR (b)
(3) ke (c) @R (d)

R

¥

.
4

T - 11
( YT )
q-gmed &
Fifdehal Hisih
GIECARCL]

-
A\

¥ {
( @ F () 3R ()

© @ F (@R ()

TR

67. frafafed § & SF-91 U STk ware diewel &1 sgd gu wa § qfiefud war €2
(1) Hﬂ—)ﬂWﬁﬁH’qaﬁi% O - JETOT — T

2

(2) THhk — & — FA - TEOHT — 3Tk — AT
(3)  T& — SRR — Tsheh — ATH — T - THNA
(4)

e dwqc?qoe‘?wq?eirége ST - FETOM —> I

68. TASI-TATNT % a1 A onfavita § E SR 3 oren sfi fed 31 3 S B
ﬁw%aﬁﬁwmaﬁ:

(1) TF. The; fafaan Hergie; w ofad; Tomwe IR |
(2)‘ | Fe fa; fafeaem fegrrer; gemw SIR®; T, 10U |
(3) TEferm fea; T, STeRie; TR AfE; B Al |
(4) TH. 3The; fafaam Hemeia; Jemet IRw; T ofad |

yoosss [ [[1]]
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69. Kinship Selection Theory suggests that we help others who are related to us because this
increases the likelihood that our shall be to future
(1) Character; transferred; population
(2) Genes; transmitted; population.
(3) Genes; transmitted; generation.
(4) Genes; transferred; population. o
II #’
70. Read each‘ of the fol}owing statements - Assertion (A) and Reason (R) i and indicéte. 1your
answer using code given below :
Assertion (A) : Results of experimental studies of bilateral lesion effects are ¢onsidered more
promising than those of unilateral lesions. 4 F
Reason (R) : Behaviour effects of bilateral legiohs are milder than those of unilateral
lesions. =1
Code : .-'f | I'I
(1) Both (A) and (R) are true, and (R) is tllle corrett e 'fplanation of (A).
(2) Both (A) and (R) are true, but (R) is not the corlgft explanation of (A).
(3) (A) is true, but (R) is false. 4 f "
(4) (A) is false, but (R) is trl.le-;.\' ﬁ_{
Vi
71. Which of the following are t.he basic forms of intelligence in Triarchic Theory ?
(a) Dimensional !i' (b)»  Componential (c) Contextual (d) Experiential
Code : I {
(1) (), (b)ang (c) only (2) (@), (b) and (d) only
2 (3) (b), (0 and..a’d) f)nly (4) (@), (c) and (d) only
72. In a single factor Irepeated measures design, the F-ratio, evaluating the effect of independent
variable (treatmTznt) is evaluated as :
(1)1 MSy eatment/ MSgbjects
(2) ¥ MSy;catment/ MStreatment x subjects
®) MSicament/ MSsubiects) + MStreatment < subjects)
4)  MSgeatment/ MSiotal
vooss [[{THINININ 5 Faper
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69. ‘‘frafer =om fagra' Ama € for 76 gudl ot TeEd ST = S gHd Hefia § Fife a8 3
H9TEAT I Ferd § R 7R oreft H B |
(1) =, Haid, sHEe
(2) S, qrTHd, SHEeE
(3) S, rwfHd, 9
(4) S, THARd, SHEe
70. frAfafed < sl - sifuerer (A) aﬂwﬁ(quﬁ@wﬁmmwﬂww’%m
I a“rﬁq :
AR (A) : @qﬁéﬂﬁaﬁaﬁwﬁmﬁéﬂﬁmﬁwﬁ%mﬁﬁﬁw@:ﬁ%w
SHTRT AEEU © | (
& (R) : wmﬁaﬁﬁwﬁﬁuﬁaﬁaﬁrﬁswwgwmﬁ@ﬁ%l
e : .-' .'
(1) (A) 3R (R) 31 =& € 791 (R), (A) F FET aﬂm%l
2) (A) 3R (R) 3 W& €, WA (R), (A) F T2 4%’%1
3) (A) W T, W (R) T 2| 4 r”'
(4) (A) 7 T, T (R) aﬁr%% | ;
| Y
71. Trefatea § @ #F Beda fagia 3 9 % qoyd w9 €2
(a) Tt !s' (OMEEEREI (c) Hicfi® COEIRREIRED
< ' {
(1) 9 (a), g’b) R (o) (2) F9 (a), (b) R (d)
s Fa (b), (g) 3‘ﬁT (d) (4) & (a), () ¥R (d)
72. Wohd [ A AT STHehed |, Th. STIUM, Wa aRadi (SUR) o Y416 1 Jedied 4 & &9
Wi S e : |
(11 @~W'3‘q’aﬁl/ TH U e
(2§ T g/ T e
(3) T/ (T ) + (T o)
(4) T, g/ T ey
roouss [[ AN 5 Paper.i
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73.

74.

Match List - I with List - IT and select the correct answer by choosing from code given
below :

List - I List - II

(Leadership style) (Description)
(a) Task Management (i) Less focus on both production and workers
(b) Team Management (i) More Focus on both production a?d_ workers
(c) Impoverished Management (iii) Less focus on production but more on wiorkers
(d) Country Club Management (iv) More focus on production Put less on .wp;‘kers
Code

@ ®) © (@ , g
M 6 G @@ ) L g
@ v @) @ 0 y A
@) @) @Gv) () (i) [\ ]
@ ) @ 6 i |

Read each of the following statemenits,- Assertion (A) and Reason (R); and indicate your
answer using code given below . ¢

Assertion (A) : Behaviour th']arﬁip;' helps people to respond to life situations in the way they
would likesto respond.

Reason (R) : Positive therapeutic relationship is a necessary but not sufficient condition
for ?ffective behaviour therapy.
Code : I {
(1) Both (A) gnd (R) are true, and (R) is the correct explanation of (A).
/(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, Eut (R) is false.
(4) (A) is false, but (R) is true.
| |
75. Décentration and reversible thought processes are the characteristics of which of the following
stage ?
(1) - Srensory - Motor (2) Pre - Operational
Concrete - Operational (4) Formal Operations
povas H|\||H|||H“| A . Fapec
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73.

74.

75.

Tt - 1 1 Gt - 11 |19 GAfaa wiae iR FEfared de & T wd g0 9@l Sa il =T
FHITC -
it - 1 it - 11
(g dredt) ( feaoT)
‘ i) ScIeA iR HIIRI SHI R FH RIR

( (

( (i) oS IR TS HATRI SHI R 31w wrhd

(c) TR&vHA yeied (iii) ST TR W, AR HIFMR W 31ferh HhE L
( (iv) e W AfYeh, Aferd HAT T FH Blhy

frefafed < weAt - sifueRe (A) aﬂ?@%&(mﬁqﬁqagﬁ%ﬁqm@wwmgqm

< f
AUFRYT (A) :  FRNEEI mg:h'f{-ql ferd ol Siter bl IRfEIfaell & STTHR =eRR & § FRHd
Ll & STEMERT SAfad A9 Tt SaeR hl T6e il & |

& (R) : YRR Sgif<deh Gaier 1fard € e gureh srerer fafsheen & foe v
Rk 1
w |

) (A) 3 (R) SR T F A (R), (A) FT T AT R
) (A) 3R (R) T EE E T (R), (A) W e R
3)  (A) W@ T, W (R) To@ 2 |
) s (A)W%,'lm(lz)aﬁ%|
|

forshgon Wl gett g wfswaned i forranadi o frfafea =wo g
(1) G - s 2) gE-Ee
3) T - FETeH (4) TR g=Ted

yooss [ ITNANEAI o
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76. Match List - I with List - II and select the correct answer by choosing from codes given
below :
List - I List - II
(Concept) (Explanation)
(a) Central executive (i)  Helps us in playing videogames, jigsaw puzzles, etc.
(b) Visuospatial sketchpad (i) Helps us in solving new problems and plan future
activities. ]
(c) Episodic buffer (i) Helps us decide what to do next and What not to
do. /
(d) Phonological loop (iv) Helps us in reading and mather?atical Calcrlla,t‘ions.
Code :
@ B © (@ '
O 6 @ G @) -
() @) @ @ G § % |
@ @ @ O @ s’
@ @) G @ 6 /
|
77. Read each of the following statements - Assertion \Aﬂ)‘iand Reason (R); and indicate your
answer using codes given below :
Assertion (A) : Working memory 1§. like a workbengh™ where material is constantly being
handled, combined afnd transformed.
Reason (R) : Both new maté?!a]‘ nd old material retrieved from long-term memory are
held in working memory.
Code : -
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) aré true, but (R) is not the correct explanation of (A).
(3)  (A) is true; but (R) is false.
4) (A)is fqlsde;, but (R) is true.
78./ Read each of thigolbowmg statements - Assertion (A) and Reason (R); and indicate your
answer using code given below :
Assertion (A) : Galton developed anthropometric tests of intelligence.
Reason (R) : . Psychometric tests were low in reliability and validity.
C({de : |
(1),  Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2).m " Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3) (k) is true, but (R) is false.
(4) ) is false, but (R) is true.
pove HI\||H||||H|“| A 2 Faper!
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76. e - 1 IR - 11 &l Gafera wifse 3R = feu 7T e § 9 9@ s g

el - 1 it - 11
( 3T ) ( faaoT)
O REIREIGED () e T, el geelt onfs T § g9RI 7. ol

(b) T T NGNS (i) o HHEAS i T HIA SR WIS farareE w6l s
F H Hee il Bl

(c) SUREATHEH TH (iii) &9 S 1 HY AR T T A, Hgen HEF Tq0 7ee
FA
(d) TR T (iv) waﬁxw&ﬁawﬁm&ﬁﬁwﬁmm%
<<
@@ (b) (o) (d)
O @ @ @) (@)
(2) @) @ @) (@) i 'i
3) (@v) (@i @1 () /.4' ”
) @) (@) @) (@) / [

77. Trefafaa < el - arfierem (A) 3l (R ﬁwﬁsﬁqf{mﬁﬁﬁq“@%wmﬂaﬂﬁ@m

AR (A) : WWW%W%WWWHWW% TSI bt STt &
3R EqTARE H S e (

T (R) : e ST & T T SR T A S e T < S
ag?: J
(1) R) ST T ¥ 79 (R), (A) F T =S ¥

) (A aﬁ'{(R ST % tr{Tgr,(R (A)ﬁﬂéra:r@mi’r%l
G) (A) T TH ([R) nqﬁ%n
(4) (A)W%W(R)ﬂé%|

78. ﬁmﬁrﬁ@?f‘cﬁma'—j FfeRe (A) iR ek (R) 1 Uiy T e ST 1T e 1 STEN Xd gT AT
'rwaﬁﬁﬁq | N
USRI (A) :  [Fieed A gg & AHarHdra qdieqon o1 faswm fomar |
@k (R) : | TIfET adteror favaear oik dwar § f1=1 9
FE : |
(1) (A) 3R (R) 39 W&t & 79 (R), (A) T TE =N F @1 |
) (A) 3R (R) I T €, R (R), (A) T T =R T R
(3) (A) W & 9 (R) e B |
(4) (A) e ¥ TG (R) T €
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79. Read each of the following statements - Assertion (A) and Reason (R); and indicate your
answer using code given below :

Assertion (A) : Proprioceptive stimuli result from the firing of the kinesthetic receptors in
the muscles, joints and tendons of the body.

Reason (R) : A response is conditioned to the stimuli present prior to the ingestion of a
primary reinforcer.
Code :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A). 'F y
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). {
(3) (A) is true, but (R) is false. ( [
(4) (A) is false, but (R) is true. {
ki ;
80. Activation of anterior portions of both hemispheres is associated with the of

emotions, while activation of the posterior po ons of"’che hemispheres is associated with

(1) expressions; moods (2) § Valenl, afousal

(3) intensity; expressions (4) | arous lence

-

81. Signal detection theory identifies twordistinct processgs in sensory detection :

(a) sensory process "h £ (b) decision process
(c) motivational process = Vi (d) response bias
Code :

(1) (a) and (b) only_ = (2) (c) and (d) only
(3) (a) and (c) onlyi' { (4) (a) and (d) only

82: Read each of the following statements - Assertion (A) and Reason (R); and indicate your
/ answer using COdﬁ given below :

Assertion (A) : .. isual Simple Reaction Time is more than Auditory Simple Reaction Time.
Reason (R) :  'Visual system involves more complex photochemical processes.

Code : |

(1)|k Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) ¥ Both (A) and (R) are true, but (R) is not the correct explanation of (A).

3) (&) is true, but (R) is false.

(4) (A) is false, but (R) is true.

pooss [ HITHANNN u
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79. TreAfafaa < weEl - stfuerem (A) 2R deh (R) &1 afeu qen e fau 7T e 1 ST i gu 79
IW ST
AR (A) : T GagT IRR & ArufyrE, s iR seusti # nfagadt dumes! H SdeH
Y 3 FA T
& (R) : ST M Yoreish % 31a: T80 ¥ gd Sufeerd Haed ¥ Tgshford el 2|

(1)  (A) 3R (R) S WL § TN (R), (A) FT HEl A Ll 2| ;
2) (A) 3R (R) 3 W& & W (R), (A) F T =S T {
(3) (A) @ T W (R) T T g r
(4) (A) e & T (R) T €

80. SN Tiemdl % TETE W I SUSHEiE WOt %k, T L @ Hafdd B, Steifs endl % o
o e amdm . A7
1)  sAfeafaar; 7= fefmt ) Wﬂﬁas‘c@m

(3) e, sifvefwREt sz@ﬁa

81. Hhd |iq g Heored wigH ¥ <1 W‘;‘I%h‘qm‘r aﬁﬂﬁl??ﬂ'm% :
(a) HA Ufman < f l‘(b) forofar wfsean
(c)  @Eer whman ) ¢ € (@) orfEn sl

(1) e (a) 3R (b) (2) A (c) AR (d)
3) FA (a) 3R (0 ( (4) FIA (a) 3R (d)

82. ﬁmﬁrﬁ@ﬁa‘mﬂ’ﬁ arfireRer (A) iR ek (R) o1 dfgw dem == fau T Fe o1 ST ad g T
S T
( AR (A) Fﬁawwuﬁ%w 0T T Hfafshan et | ST B ¥ |
qeh (R) : m@ﬁmaﬁamwﬁmmﬁ@tﬁ%l
EEE |
(1) (A) 3R (R) ST WY € T (R )sﬁta@wm%
2 (A)SﬁT aﬁﬂfr%tr@ (A) F HE AT T 7
(3) (A) W& & 9 (R) T & |
(4) (A) 7T T, T (R) T g
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83. Creative thinking is different from routine problem solving in respect of :

(a) Fluency (b)  Flexibility (c) Originality (d) Day dreaming
Code :
(1) (a) and (b) (2)  (b) and (c) (3) (9 and (d) 4) (@), (b) and ()

84. The Wechsler type deviation IQ of 115 corresponds to which value of percentiletraﬁk ?
f

(1) 68 (2) 84 3) 90 4 9 r.:
lp' [
85. Match List - I with List - IT and select the correct answer by choosing from code given
below : ) ¢
List - I List - I
(Term) ' (Deépription)
(a) Conformity () Ruleshndlcatmgnhow individuals are expected to
behaéle in a SpeC}fIC situation.
(b) Compliance (ii) Soc1al 1nﬂu%:? involving direct request from other
(c) Social norms (iii) Social influerice wherein individuals change their.
< attitude to go along with existing norms.
(d) Intense indoctorinization (1Xy) “Process in which members of extreme group accept
.. ¢ the beliefs and rules in unquestioning way.
Code : __h A
@ ) © @
W) O G @)y vy
@ G @ 6
®) i) (), 6 )
4) G ( )

S i) ) T) ,_

86. Spatial processing of location relies on :

(a)" Dorsal pathway (b) Inferior temporal cortex
(C).l' Subcortical pathway (d) Ventral pathway
Code :
(1) (5> only (2) (d)only
(3) (b) and (c) only (4) (a) and (d) only
Fooss HI\IIHIIIIHI“ [ . Fapert
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83. ol feaa Tuen gaeH & fhg gfe 4 fim 72
(a) TS YAE (b) G (c) Hiferrar d) fean @< @
e :
(1) (@) R () )  (b) ¥R () () (0 ¥ (d) @) (@), () ()
84. UTHR UHR % U B TR, 115 =1 # fora ufererdior o w9mM § 2
(1) 68 ) 84 3) 90 4) .9 Ve
85. @-Im@-llﬁ@mwmﬁmw@ﬁ@ﬁrwgﬁ{: f
T - 1 ger-m o« - :
QIS (e ) "l .;
(a) T () Frm ot ¥ °F few @ § st fasm oy &
SRR 1 ST B
(b) FE=EA (i) A T D T S o ¥
(c) ISR f7arH (i) EHISR 9 ﬁ#ﬂﬁﬁ%wamﬁqﬁaﬁq%
1 TR € Joww -
CVERESSESURERE] (i};; efeenet e %l'; HSH U orash g1 W fovarg wd frami
\ :"* ¢ I HER FH H UREA H DA T
e : =
@@ (b) (o)  (d)
1 @ G () ¢ vy
@ @ @ 6
3 @) G, @ 3@
o @ @ o
86. wﬁwﬁrwwﬁi%mm A 82
(a) .. 3Tfugss AFf W (b) 1= viE g (FIEF) W
(c) W‘lqﬁq'{ (d) TS AN W
(1) ?rW (a) (2) < (d)
(3) A (b) I () (4) A (a) I (d)
rooass [[[[[HUITAAEAI 7 Paperi
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87. Read each of the following statements - Assertion (A) and Reason (R); and indicate your
answer using code given below :

Assertion (A) : Jensen has put forward Regression argument in favour of his theory.

Reason (R) : Children of parents having very high intelligence levels will have below
average intelligence scores.

Code :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A). e

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). ; .rx ‘
(3) (A) is true, but (R) is false. f r
(4) (A) is false, but (R) is true.

L

r

88. Handling feelings appropriately, ability to soothe oneself, andability to shake off rampant
anxiety are the characteristics of which of th;ﬂcompopents of Emotional Intelligence as

proposed by Goleman ? / .

|
(I) Knowing one’s emotions (2) [Managing emotions
(3) Motivating oneself 4) r Handltn ‘j'relatlonshlps

89. Which of the following new dlsorderﬁ have been mtr?duced in DSM-5 ?
a) Premenstrual Dysphoric Diso er
(a) ysp % 1151
(b) Mild Neurocognitive qumider
(c) Disruptive Mood Dysregulation Disorder
(d) Road Rage Behaviour Disorder

-

Code : { (

(1) (a), (b) and (c) are correct ; (d) is incorrect

(2) - (a), (b) and (d) are correct ; (c) is incorrect
/ (3) (a), (c) and’(d) are correct ; (b) is incorrect

4) Al (a), (b), éc) and (d) are correct

90. In sélection process, Guilford - Zimmerman Test assesses :
(1), Mathematical and Verbal skills.
(2) ‘j'. Mental and Personal profile.
(3) Extent of temperamental adaptability.
(4) Analytical and Verbal Skills.

vooss | INININAN
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87.

88.

89.

90.

T < e fou TU €, U Rl SRR (A) TR TEX 1 RIUT (R) % &9 H fean T ¥ = few o
% H H HE W g

MR (A) : S8 A T Fagid & 9t § g i wfaaied i €|

FWOT(R): I g R A A 3 w3 sived & % gy o S

e :

1
2
3
4

(A) 3T (R) ST W&t € IR (R), (A) T & =1 B |
(A) 3R (R) M 9@ €, W (R), (A) T& =& 76 2
(A) 9& B, T (R) T

(A) T T, 9 (R) Tl 2|

)
@
©) ;
@

WSl Sh1 TS I o ST B, ST STUeh! RIHT e #h A 3R oyt gfesansit § die
FSMT 7T G AT-T&Tford HolTeHeh 9fg o fe |ch/g,«b|¢eh K siforeten € 2

(1) o794 W&l Sl S ) M@aﬁﬁwﬁam
(3) 37U SAUeh! YR HEAT @) | wzﬁ?aw

S.TH.TH.-5 ° fAfaftea 72 foeri § 9 feg %l a&qa Rkl 4
(a) e o & qd g famr N f

(b) TR FIfah FHR AR K -

() fosfe wferf g@aﬁm‘qﬁw

(d) WWWWW

%< "

1) (a), (b)aﬁI d) T g |

(a), (b)@ﬂ; ‘\T@% (c) T T |

@), (c) ) ¥ %, (b) T B

w4l (), (b ;Z) (d) & 21

=R gk | ﬁl(*.rl-hlsc—r\fiu-i{*fl'l TeTor fohd T8 T AT 1 3T il © 2
(1) i T wnfeseh shivre |
() e T IR e
(3) -mﬁaﬁwmwﬁ@m|
foerdt T wnfsseh i |
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91. ‘Mechanistic Behaviour Analyses” are characterised as :
(a) Behaviour is instigated by the onset of external or internal stimuli.
(b) Direction of behaviour is determined by S-R bonds or habits.
(c) Behaviour directed toward the goal persists till the achievement of goal.
(

d) Events related to the goal achievement are encoded, categorised, and transformed into

a belief.
Code :
(1) (a) and (b) correct ; (c) and (d) are incorrect. {
(2) (b) and (c) correct ; (a) and (d) are incorrect. .'r‘;
(3) (@), (b) and (c) are correct ; (d) is incorrect. i r
(4) (b), (c) and (d) are correct ; (a) is incorrect.

92. Guilford (1981) in his modified SOI model mentioned hierarchical“structure of intellectual
abilities reporting that there are first order, factors ; | second order

factors; and third order factors. &
(1) 150,85, 20 (2) 120;80; 20 A3) 150; 85 ;16 (4) 180;75;18
¥ 1 I.

| [}

93. Read each of the following statements - Assertion \A) and Reason (R); and indicate your
answer using code given below : d’ﬂ

r

Assertion (A) : Children have remarkable ability to creaté mental representation of the
world in the form of language.

Reason (R) : Reasoning and{)roﬁlem solving are the ways of manipulating the ideas.
Code : b (

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but!gR) is false.

(4)  (A) is false, but (R) is true.

94. Read each of the following statements - Assertion (A) and Reason (R); and indicate your
answer using code given below :

Assertion (A) : oré'etting of everyday events in young people is not an indication of a poor
memory.
Reason (R) : | Ineffective encoding due to failure to attend to an event while it is happening

| results in failure to remember.
Code :
(1)% , Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) \ B'_oth (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4)

yoosss [

(A) is false, but (R) is true.
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91.

92.

93.

94.

‘ifsreh =raeR faverwor’ &t = & | SF-gt fagoand €2

a) IEER ! a1 AR 3Tiafie s it Icafa & g SAfa foran S § |

b) SHIER i A TH.-IR, eyl Tera Aedi 9 Feifid i <t 1

) SHIER W& I U HLA qh 5§ 9 e o o1ed o fore Fder <an §

d) w7 Uifta § Gefed seneti sl Joltag als ¥ Feag foran s € IR a8 favamm & suraia
EESICIES

¢) T& €, (d) e T [

fTT®rg (1981) 4 1o Heiiferd w@.ef.eMmE. wiaey & gfg & Frgehie, WTem Elﬁ AT i
feifén e g Seora foren © FF wom W RS0 foda T FR 3R

spipiEstipicaes g //
(1) 150;85;20  (2) 120;80;20 J(3) 150 ; ,85 16 (4) 180;75;18

T < e fou T ¥, T 6 ArfieRe (A Sﬁig@iﬁ %mﬁﬁmw%‘l‘—ﬁﬁﬁqﬂq

Fe H | W& I g

AU (A) : Tvln_uﬁfrWﬁ?@ﬁ{;HmWHHlH%WWWﬁWWW@?ﬁ
T

T (R) : ﬁﬁww%mmwﬁﬂﬁﬂmﬁ%ﬁ%

3R (R ?ﬁ'—ﬁﬂﬁf%?:ﬂ'{ (A) I TE == T
3R (R aﬁ'—h!q%‘r%m(R A) T GE e T

ﬁﬂﬁf@aﬁmﬁ SR (A) 3R ek (R) 1 9fgq T 1= fT T e o1 TN HTd Y ST

alﬁﬁ?ﬂ timmﬁuﬁrra‘—rﬁﬁ‘aﬂaﬁaﬁ & ST et ATSRd T Hehd ol & |
Tk (R) : SHE % ] WHY SH W A o7 H STHHel WA o U STIHEYY] Heehl
. | foremzor # wicrd g 2|

7:!3_{:

(1) (A) 3 (R) 21 T & 71 (R), (A) T Tt AREAT 2l ¥
()AWRﬁ@%WRMW%WWW%
() A) T& T, W (R) T 7 |

(4) (A)W% T (R) T T
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95. Read each of the following statements - Assertion (A) and Reason (R); and indicate your
answer using code given below :

Assertion (A) : Premack principle, based on Probability-Differential Hypothesis, states that
the opportunity to engage in a frequently occurring activity can be used to
reinforce less frequently activity.

Reason (R) : According to Probability-Differential Hypothesis, restricted access to a
response makes that response reinforcing and excessive access to that
response makes that response punishing. h

Code : '

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A). {
(2) Both (A) and (R) are true, but (R) is not the correct explanation of {(A). F
(3)  (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

4 (
Read the following paragraph and answer the fivel:/ﬁ’uestioﬁs which follow :

Instructions for questions 96 to 100 :

An educational psychologist wanted to develprp an achievement test in physics for graduate
students. After going through the usual test construction prog¢edure, he retained 100 items; each
item having five alternatives, one of them being correct. 'h'&he psychologist wanted to examine the
factor structure of the resulting achievement test. Usinga s le of 1,000 subjects, the psychologist
obtained the inter-item correlations. He obtained the initial estimates of communality and then
decided to factor analyze the inter-item corﬁelations matrix bfy following the common-factor model.
He extracted the unrotated factors and retainied the first nineffactors for rotaion. The nine unrotated
factors explained 67.5 percent of variancé. After factor rotation, all the inter-factor correlations
were found to be zero. The factor E‘.tﬁuc‘[*ure of the achievement test of physics was found to be
interpretable.

96. The inter-item correlations would be :
(1) Biserial correlations (2) Kendall's tau

(3)  Phi-coeffi¢ients (4) Point-biserial correlations

97. Read each of tﬂ‘e following statements - Assertion (A) and Reason (R); and indicate your
/ answer using coft given below :

Assertion (A) : For the factor analysis of item scores, Common-Factor model is quite often
more suitable.

Reason (R) : | Item scores are quite often less reliable than the psychometrically measured
| trait variables.

Cade :

(1)\ J Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) = Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

)
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95. = feu T el w1 Uiy - 1fieRer (A) SR @k (R), 3R 1= fSU e &1 ST hTd g 791 IR
Elﬁ'l's{'a:
AfaeRem (A) . yETed-fades uReer R enaiia Wi fagra &1 o § f anem 29
arett wfafaf = w9 9= 89 arelt Tfafaty s gafed s & fow suam fear s
a1 T
& (R) : JHITA-fadees IReeu & STIER, ST i Ufaefed T=rr 39 STfshan &1
WWW%@TWW@WWWWW@?@HW@
g y
e : {
) (A) 3R (R) SHT e € @R (R), (A) 1 T =0 B J
) (A) 3R (R) I T T T (R), (A) T T =A@ T 7 |
) (A) T B, W (R) 3T8A T ‘g
) (A) T8 €, W (R) T y & \
", h
9 . 96 ¥ 100 ek forg Fcor ¢ ,f’f'
et T @t veE o fu afa we s E L [ |
T e T ¥ =l i T e % o Sifgere afer B e SR R S
TieToT FE W WERA % W18, 100 He W, S e we % 5 fasedty sl H uw W@
e e et Teror st sheh HCEAT ST =edr o | fSieeh foft 39 dveror =it 1,000 ferafaail
WWHWWW%%WW%:WWWI W%w&wmwﬁw‘ﬁ%
WW%WWWW&W%@&WWHM9WWWWﬁ%ﬁ‘ﬁ67.5%
T Ft AR HT | HR YU F HYAT ST TeHS Y UE M| W T HRF HCAT
AT A T | -

96. T:HS Hg-TwIY @R ?
(1) o wfere weeery | (2) eI HT < qhET0
(3)  TRIS-T]UTieh | (4) WE=-dEHRId Teawry
"

97. / Frafafea 2 Fel- AfeweT (A) SR aeh (R) 1 dfen qo = foT T Fe 1 Wi i gy 7o
IW ST : '
ARTHYT (A) : /9T TS % e AT ¥ foIU FHIfE HRe Hied SUTH & |
qh(R) : 'lnﬁrﬁ?ﬁqﬂﬁﬁsﬂwmﬁwﬁme@ﬁ%l
ki
(1)

(A) R (R) 3 WET € T (R), (A) BT HET 1 FA L
(2) - (A) 3R (R) 3 & ¥, W (R), (A) T T =T T 7
(3) (A) W@ E W (R) T F
(4) (A) 7@, T (R) T &
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98. Which one of the following method of factor extraction, the psychologist would NOT use in
the present study ?

(1) Principal axes method
(2) Principal components method

(3)  Psychometric (alpha) factor analysis
4)

4 Maximum likelihood method

P
[

4
99. Which method/s of rotation has/have most probably been used in the present stud& fe

(a) Oblimin (b) Promax () Quartimax (d)f Varimax |
Code : - {
(1) (a) only 2 (o) only P "
(3) (c) and (d) only (4) (EI)F,(C) 'af{g (d) only ‘
7 .'

100. The second-order factor analysis of the nine rgtated factors is not recommended in the present
study because : / /

(1) There are only nine first-order factors. Jj

r
F
-

(2) The interfactor correlations areyzero. {
%

(3)  The factors obtained by coﬂg:mgn—factor model are not subjected to second-order factor
analysis. <

(4) Unrotated factors are more suitable for second-order factor analysis.

{ 3 -00o0-
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98. =1 H § & 3cud e foh et 39 fafy § 37573 k1 TANT HAISRR el h{ ?

1) fifaua gf fafy
(2) fufgua =2 fafy
(3) TAIMHE (STTH) FR fawerdo
(4) Haiferer gese fafy
99, =T s S T ey e e A : (s
(a) STt (b) W () TR (d) aﬁﬁw
<< : -,' &
(1) %5 (a) @ w@@E
(3) HFA (c) 3 (d) (4) / o) S (d)
100. it =RfOTT ki fg-FH FHRH faverw =t 9gfd 39 %ﬁ‘l’@ﬁﬂﬁ'@ﬁﬁ7
(1) et Al GI9-T FRF ¥ | " ‘
) %.WWH?@%‘H ( ) -
(3) e e Ttee & T B! 1 T e T T fohe S
(4) TR R fo-sH PR AR ¥ foru S S ¥
{ | -00o0-
‘4
.I
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